Hr= 71w o 2 vk sigEee (Assertion (A)) % =9 A feiEa # A1 5H 39F F00 (Reasons (R))

FETH :
AtaFT (A) ; ﬁmﬁ?:rﬁdqfad i FlEs =T TSR]
M (R) AAHEATF =rad 1 SA9IE T TA 2 F W = gEe 1 60 w1 S

IO WU AR H, A= 0 0 S 5 d TR 39 S =9 e

[Question ID = 925][Question Description = 200_02_Political_Science_0CT22_Q100]
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

(A} 377 (R) 71 59 2 36 (R). (A) 1 551 =we 2|

[Option ID = 3697]
2. Both (A) and (R) are trize but (R) is NOT the correct explanation of (A)

(A) 51 (R) ZH1 879 7, =1 (R). (A) = =8l =ams 91 =

[Option ID = 3698]
3. (A} is true but (R) is false

(A) T3 2, =% (R) 30 7

[Option ID = 3699]
4. {A)1s false but (R) is true

(A) 375 7, == (R) &7 9 7

[Option ID = 3700]

Topic:- GP_UGCNET_110CT_SH1_S1_A

1) Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular yvear. Based on the

data in the table answer questions 1- 5:

College
College | College | College | College
Stream W x ¥ z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 360
Engineering 50 50 150 150
Medical 150 50 50 100




Frfifias mifean w fram = fomil B fagm ad = fao 9 4 gos Fea 6 @9 6 50 den §ud 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

EE

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

In which stream the number of admitted students is highest?
(1) Medical (2) Science
(3) Arts (4} Engineering

~ .

form H=rra o waryr &9 Jret faenieda) ) s sfagag 27
(1) fafwm 2 FEm
(3) & (4) st

[Question ID = 1316][Question Description = 101_00_General_15_0CT22_Q01]
1. 1 [Option ID = 5261]
2. 2 [Option ID = 5262]
3. 3 [Option ID = 5263]
4. 4 [Option ID = 5264]

2) Consider the following table which shows the total number of seats in each college 1n bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | Callege | College
Stream W x y z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




f=ferfiaa @i W e 1 e B fagm ad & foo a8 g e 1 @i 6 $a gen § 5 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

FTela

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
Fel 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

What 1s the percentage of vacant seats?
(1) 17.66 (2) 15.66
(3) 14.22 (4) 16.67

e HT2] =1 sferareren == 27

(1) 17.66 (2) 1566
(3) 14.22 (4) 16.67

[Question ID = 1317][Question Description = 102_00_General_15_0CT22_Q02]
1. 1 [Option ID = 5265]
2. 2 [Option ID = 5266]
3. 3 [Option ID = 5267]
4. 4 [Option ID = 5268]

3) Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W X ¥ z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




Frfifias mifean w fram = fomil B fagm ad = fao 9 4 gos Fea 6 @9 6 50 den §ud 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

EE

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

What is the ratio of students admitted to science stream and engineering stream?
(1) 9.4 (2) 7T:4
(3 11:5 {4y 9:5

Terstra |enr ofn sl Ao 4 wEe o Jre Frnida e s e 27

(1) 9:4 (2) 7:4
(3) 11:5 4 9:5

[Question ID = 1318][Question Description = 103_00_General_15_0CT22_Q03]
1. 1 [Option ID = 5269]
2. 2 [Option ID = 5270]
3. 3 [Option ID = 5271]
4. 4 [Option ID = 5272]

4) Consider the following table which shows the total number of seats in each college in bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W X ¥ z
(500) (300) | (1000) | (1000)
Science 100 150 360 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




Frfifias mifean w fram = fomil B fagm ad = fao 9 4 gos Fea 6 @9 6 50 den §ud 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

EE

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

What 1s the percenteage of students admitted to Medical stream among the total number of
admizsions of the college?

(1) 13 2 15
@ 14 4 16

FTErE o e T 4 el g U gaw o arel e w5 sfaem s 2t

(1 13 (2 15
(3 14 (4 16

[Question ID = 1319][Question Description = 104_00_General_15_0CT22_Q04]
1. 1 [Option ID = 5273]
2. 2 [Option ID = 5274]
3. 3 [Option ID = 5275]
4. 4 [Option ID = 5276]

3) Consider the following table which shows the total number of seats in each college 1n bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | Callege | College
Stream W x ¥ z
(300) | (500) | (1000) | (1000)
Science 100 1560 360 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




f=ferfiaa @i W e 1 e B fagm ad & foo a8 g e 1 @i 6 $a gen § 5 2
A7 e feafor= wam g o o ol faenfdan i apen € nd 2

Alfeta & 32 & IMOTIHE H, 155 T &

FTela

FIAS | FTS | FEE | FEE
o i x ¥ e
' (500) | (500) | (1000) | (1000)
femma 100 | 150 | 350 | 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
IEIET=:] 150 | &0 50 100

What is the average number of Arts students admitted to each college?
(1) ~ 214 2) ~218
(3) ~ 216 (4) ~217
(1) ~ 214 (2)y ~212
(3) ~21H (4 ~217
[Question ID = 1320][Question Description = 105_00_General_15_0CT22_Q05]
1. 1 [Option ID = 5277]
2. 2 [Option ID = 5278]

3. 3 [Option ID = 5279]
4. 4 [Option ID = 5280]

Topic:- GP_UGCNET_110CT_SH1_S1_B



1)

Match List I with List IT :

Last I
(A) Mind Maps

(B) Gamifications
(C) Flipped Classrooms

(D) ICT based teaching method

Last IT
(I Allow student to explore the lesson
before the teacher describes

(IT) Virtual Reality
(ITI) Use of self-learning tools

(IV) Learning through using quizzes

Choose the correct answer from the options given below :

(1) (A0, (B)-(II), (C)-IID), (D)-(TV)
(2) (A)-OV). B)-0). (C)-(I1D), (D)-(ID)
(3) (A, (B)-(IV). (C)-(I). (D)-(IT)
(4) (A)-(ID), (B)-(I1D). (C)-(IV). (D)-(I)

11 % A4 g1 fgem Fifao

(A)

(B)
(©)
(D)
4=
(1)
(2)
(3)
)

iR

g4: fam

difeEas=
Fearfyd (foome) e

ICT swentra foem uzfa

fev o fawedi 4 | w8 397 &1 999 Fifao .

(AND), (B)-(I1), (C)-(III), (D)-(IV)
(A)-(IV). (B)-(1). (C)-(ID). (D)-(1L)
(A)-(I). (B)-(IV). (C)-{I). (D)-(1D)
(A)-(1ID). (B)-(ILL). (C)-(IV). (D)-(I)

11T

(D P 6 smen & qd faefl @ o %
sr=rqur <1 3l

(IT)  weffaum areafaee

(II) ¥ T 9601 1 J9E0]

(IV) woreaft (fs) & awam g =g

[Question ID = 1321][Question Description = 106_00_General_15_0CT22_Q06]

A W N -

1 [Option ID = 5281]
2 [Option ID = 5282]
3 [Option ID = 5283]
4 [Option ID = 5284]



2)  Match List I with List I :

(A)

(B)

(€

ListI
Formative Evaluation

Placement Evaluation

Summative Evaluation

(D) Diagnostic Evaluation

(D

(II)

(ILT)

(IV)

List IT
The purpose 1= to check the aptitude of
a candidate for the course or subject.

Entrance exam can be conducted for
the same.

It provides the student with feedback
regarding his/her success or failure in
attaining the instructional objectives.
Thas evaluation provides an
explanation for the possible causes for
problems in learning.

It is a method of judging the worth of a

programme at the end of programme
activities.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

A1 %

(A)-(I). (B)-(ID. (C)-(I1L). (D)-(IV)
(A)-(TII). (B)(I). (O)-(ID). (D)-«(IV)
(A)-(IL). (B)-(I), (C)-(IV). (D}-I1I)
(A)-(IV), (B)-D), (C)-(I). (D)«I1T)

|1y q=-11 %1 e S

e,

(A)  TEATHE YodidA

(B) AT

(C) HFeHdS JedH

(D)  TOENTHE Yedisha

g4 fen
(1)
(2)
(3)
(4)

e fadedi 4 # HE L B =TI hifAu .
(A)-(0). (B)-(II). (C)-IL). (D)-(IV)
(A)-(IIT). (B)-(I). (C)-(I1), (D)-IV)
(A)-(ID). (B)-(D), (C)-(IV), (D)-(1ID)
(A)-(IV). (B)-(II), (C)-(I), (D)-(IID)

{111

magFs wua favs & fau sepdi &
sfiwa &1 o o s 329 ) 3 &
feu wers) wften seel 1 w2

4 HEe AU HAHA 79 % qaw g ufagfe
qeH HE] E |

g7 YedidA s i guerE & feao
BT RV o1 S4TE YeH il R |

a7 Hr Tiafaiedl % auE 9w
uge % &f 4 ol w3 6 gzf 2

[Question ID = 1322][Question Description = 107_00_General_15_0CT22_Q07]

1. 1 [Optio
2. 2 [Optiol
3. 3 [Optiol
4. 4 [Optio

n ID = 5285]
n ID = 5286]
n ID = 5287]
n ID = 5288]



3)

Which of the following 1s/are the feature/s of Reflective level of teaching?

(A)

(B)

(©)

(D)

(E)

Students learn by understanding the facts and information.
Teaching is nothing but learning the subject by rote.
Development of problem-solving ablity.

The student’s original thinking and creative abilities.

The pupils are kept 1n strict disciphines and eramming 1s insisted.

Choose the correct answer from the options given below :

(1)

(3)

(B) and (C) only (2) (D) and (E) only

(A) and (B) only (4y (C)and (D) only

Frrierfien 4 2w 8 T faad s ) Eemau 27

(A)

(B)

(C)

(D)

(E)

Tl Ao 2w g1 1 HuE # ogw v 2

farer =1 724 & gwn #fivaa % sefafen e e = 2
HUF-HATTH 3 1 A & fa |

Taamdi <1 ifera dr= 30 =T 9rn |

ferenefi 3 sAwIEH | 76 ST @ H10 T WoAR e |

41 fau v famem 08 =2 39 6 = At .

(1)

(3)

Fad (B) 31 (C) (2) %ad (D) 38 (E)

HAA (A) 31T (B) (4) A (C) 371 (D)

[Question ID = 1323][Question Description = 108_00_General_15_0CT22_Q08]
1. 1 [Option ID = 5289]
2. 2 [Option ID = 5290]
3. 3 [Option ID = 5291]
4. 4 [Option ID = 5292]



4 T con B ; g A
) Put the following 1n correct sequence in the hght of process of Evaluation systems.

(A) Development and use of measurement instruments.

(B) Interpretation of Data.

Q) Setting objectives and eriterion.

(D) Formulation of judgements and taking of appropriate action.
Choose the eorrect answer from the options given below :

(1 (A). (B). (C). (D) (2) (B) (C). (A), (D)
(3) (C). (A). (B). (D) 4) (A (C). (B). (D)

geaieA saa s o1 ufseen & sreien § Fefofias @ o eu i o
(A) O I R T i I
(B)  @ed o =awem
(C)  F2wai S Fepd] (sEaioas ) o warhyd a1 |
@) i o gfires o shEa FrEia e )
1 T o faereadi 0 A /1 397 o1 =994 e

(1 (A (B). (C). (D) (2) (B (C). (A). D)
(3) (C). (A, (B), (D) (4) (A (C). (B). (D)

[Question ID = 1324][Question Description = 109_00_General_15_0CT22_Q09]
1. 1 [Option ID = 5293]
2. 2 [Option ID = 5294]
3. 3 [Option ID = 5295]
4. 4 [Option ID = 5296]

5) In which of the learner-centered methods students arve first presented with challenges?
(1) Selflearning (2) Active learning
(3 Inductive teaching and learning (4) Cooperative learming

frrferfiaa o & fam foranedl f=m fafbei O famrariai & sue gAfaai waqa & adl 27

(1)  =E-whnrm (2) ufrg wfam

(3)  wwETEdE faew Hn Ao (4) wHEaTES wfemy
[Question ID = 1325][Question Description = 110_00_General_15_0CT22_Q10]
1. 1 [Option ID = 5297]
2. 2 [Option ID = 5298]

3. 3 [Option ID = 5299]
4. 4 [Option ID = 5300]

6)  What is the full form of MLA' as a referencing style?

(1) Machine Language Adaptation (2) Modern Language Association
(3) Management Language Authority (4) Mainstream Lanzuage Association

dad dieft (Fkfi) % =9 8§ MLA %1 0 @ 27

(1)  urs s u2esH (2) wred s vEiuee
B) e viEe weiid (4) TFEfy des vEfaeE

[Question ID = 1326][Question Description = 111_00_General_15_0CT22_Q11]
1. 1 [Option ID = 5301]
2. 2 [Option ID = 5302]
3. 3 [Option ID = 5303]



4. 4 [Option ID = 5304]

7) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A):  Qualitative research is guided by positivistic epistemology
Reason (R) : The aim of quantitative research is only to test hypothesis.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct hut (R) is correct

419 & Fum fen o . v sfiyees [Assertian(ﬂ))"mmﬁfﬁ'ﬁﬁﬁ?ﬁ@ﬁmﬁm{ﬂeasun

R) F =9 Y ;
HAYFET (A) : afcamorrayes e geEard) A # fen-fefm s 2
HHUl (R) qfrgiITeer 914 1 3299 dhdel YTEeSAl &1 THET HE 2

YT U & e O, = foun e fasedi O § gad 3uge I T difa

(1) (A) 3 (R) 21 77 2 31 (R), (A) 6 Wl = 2

@) (A 3 ®) 21w 2, wfE R, (A) H H s 4 2
(3 (A FA R, i ®) 9d T 2

@) (A wE FE 7, offda (R) 74 2

[Question ID = 1327][Question Description = 112_00_General_15_0CT22_Q12]
1. 1 [Option ID = 5305]
2. 2 [Option ID = 5306]
3. 3 [Option ID = 5307]
4. 4 [Option ID = 5308]



8) @Given below are two statements :

Statement I : In present time, researchers prefer to write research papers over
writing a meonegraph.
Statement 11 :  Monographs and books are not included in the data base of research.

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(& Both Statement I and Statement I1 are incorrect
(3) Statement I 12 correct but Statement I 1s incorrect

{4y Statement I iz incorrect but Statement IT is correct

= @1 e[ fau e 2 .

#e[d T:  FduE |99 O s gears fergs @ s sy a TemEan ghe w2

d9d IL: 919 o 21 &8 °§ gHus 3 gk aifea 395 2)
i G & et 8, A fou e fawedi 4 & q98 3 s o 9 difan

(1) @&9A 136 e =8 2
(2 wEA I 3R I A e 2
(3)  wYA I 2, A e a2
(4)  weF 17ed B, dfea wya a2

[Question ID = 1328][Question Description = 113_00_General_15_0CT22_Q13]
1. 1 [Option ID = 5309]
2. 2 [Option ID = 5310]
3. 3 [Option ID = 5311]
4. 4 [Option ID = 5312]



9)
Chven below are two statements :

Statement I: Field notes are important for prompting the ethnographer’s memory and
form much of the data for subsequent analysis.

Statement II: Research methods such as qualitative interviewing are flexible, and are less
disruptive of the work and personal Lives of both researchers and research
participants.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT 1s correct
A A g faomd .

FoH () ;@3 feoaforr g=fa avesd #1 w3 w1 sgataa #91 * fom gempl 2 s s faverm =
Tz =01 sifufe am e 2 )
e (I0) :  7TTesieh HTese S 911a wgfoal 45T el § =i snusrdis] vd si sfawrfe aqi &+

I FAA ok AT 8, = e o faeredi @ | wad 3w e A il -

(1)  FH9 Isip OEETEa3 |
(2) FoE 130 [ SET T4 7 |
(3) R I9A 2, cfFA FeR I TEm 2 |

(4)  Fed Ied 2, el e TTEA 2 |

[Question ID = 1329][Question Description = 114_00_General_15_0CT22_Q14]
1. 1 [Option ID = 5313]
2. 2 [Option ID = 5314]
3. 3 [Option ID = 5315]
4. 4 [Option ID = 5316]



1 Which among the following are examples of personal documents; for the purpose of sources
of data?
(A) Diaries
(B) Mass media outputs
(C)  Letters
(D)  Autobiographies

(E) Company documents

Choose the most appropriate answer from the options given below :
(65] (A). (B). (C) only (2)  (A). (C). (E) only
(3 (A). (C), (D) only 4) (B (C). (D) only

freferfiaa | 14 @ & i F 3299 % fem safamma o & sepm 2 7
(&) Al (zad)

®) Stz fim (o)

© m

(D)  sTeEdm

(E) T
4 Tau e O | w7 39 @ w9 i
(1)  #a4 (A), (B). (C) (2) 47 (A). (C). (E)

(3) & (A). (C). (D) (4) 3@ (B), (O). (D)

[Question ID = 1330][Question Description = 115_00_General_15_0CT22_Q15]
1. 1 [Option ID = 5317]
2. 2 [Option ID = 5318]
3. 3 [Option ID = 5319]
4. 4 [Option ID = 5320]

11)
In terms of communication, most online platforms of teaching and learning are :
(1) Synchronous (2) Asvnchronous
(3) (One-to-none (4) Tied to specific timeframe

T 1 g0 A e i st o st siene wew F

(1)  deskiicrk (2) sl
(3) U FIEIE A% (4) fafam aumdio 4 95

[Question ID = 1331][Question Description = 116_00_General_15_0CT22_Q16]
1. 1 [Option ID = 5321]
2. 2 [Option ID = 5322]
3. 3 [Option ID = 5323]
4. 4 [Option ID = 5324]



12)

Which of the following are barrmers to acceptance of communicated messages?
(A) DBodylanguage with positive vibes

(B)  Attitude of the listener

{C) Values of the decoder

I Status clash

(E) EKnowledge stimuli

Choose the correct answer from the options given below :
(I} (A (B). (C)only (2) (B). (C), (D) only

(3  (C). (D). (E) only @) (A). (D). (E) only

Fe=ferfiad 0 A i Fufvd 397 &1 a0 s a7

(A)  HEETEEE ST arel i e

(B) vl gty

(C)  fau®as & g

D) oz

(E) FHIEMH

=t fau e Fasrel 0 & a2 399 %1 =2 i

(1) = (A), (B), (©) (2) #A (B), (C). (D)
(3)  #HF (C). (D). (E) @) FF (A). D), (E)

[Question ID = 1332][Question Description = 117_00_General_15_0CT22_Q17]
1. 1 [Option ID = 5325]
2. 2 [Option ID = 5326]
3. 3 [Option ID = 5327]
4. 4 [Option ID = 5328]



13)
Given below are two statements :

Statement I: Western concepts focus on wholeness and unity of communication.

Statement IT: Non-Western communication concepts have the strong central idea
of individualism.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
{(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1= false

(4) Statement I is false but Statement I 1= true

d @ e fqum g .

FoA (@) ;T SR =@yl i s v 91 e i e
FA (1) ;T —rraTed Jigw Ahrarn s § sfFEs 5 vead F2a aE S f |
IV T o e 4, J19 feu o el O 8 a6l 3 g8 Fifa -

(1) FIziRIEdigas)

(2) #9431 3R [ &H 559 & |

(3)  #wA 14™ 2, A %94 I 597 2 |

(4) FRIAFAD, A FA AAA |

[Question ID = 1333][Question Description = 118_00_General_15_0CT22_Q18]
1. 1 [Option ID = 5329]
2. 2 [Option ID = 5330]
3. 3 [Option ID = 5331]
4. 4 [Option ID = 5332]



14)
As per the New London Group, the five modes of communication in sequence are ;

(A)  Linguistic
(B)  Visual

(C)  Aural

(D) Gestural

(E) Spatial

Choose the correct answer from the options given below :

(L) (A, (B), (C), (D). (E) (2) (B). (C), (D), (E). (A)

(3) (C). (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)

94 1EA HYR % AT FHE F4 HHYW F 0= = E

(A) =TT

B

(© ==

(D) HehdATY

(E)

94 fau m famed O | w5 39 = =ae ifsu

(1) (A), (B). (C), (D), (E) (2) (B), (C), D), (E), (A)
(3) (C). (D). (E). (A). (B) 4y (D). (E). (A). (B). (C)

[Question ID = 1334][Question Description = 119_00_General_15_0CT22_Q19]
1. 1 [Option ID = 5333]
2. 2 [Option ID = 5334]
3. 3 [Option ID = 5335]
4. 4 [Option ID = 5336]



15)

Match List I with List IT :
ListI List IT
Elements of Human Communication Representational Description
(A} People {I) Semanticism
(B) Ideas (IT) ILead to modification of Physical
environment
(C) Noise (ITII) Information processors
(D) Language (IV) Expression of creativity

Choose the correct answer from the options given below :

(1) (A)ID, (B)-ID), (C)-(IV). (D)D)
(2) (A)-(T), (B)-(IT). (C)-(IV). (D)-(III)
(3) (A)-(IV), (B)-(I). (C)«(IIL). (D)-(II)
(4) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)

=i 1 o e g I = fuer ife
g1 11
YT | % el e 2
(A) 0 M weifEEEe
B) fa=n (D) 35A difers T F w2 2
(C) ¥ (47z4) (IIT) H=1 5 ST
(D) umi (IV) TaTeds = sifuasafe

44 o e | 3 ol 397 91 =94 Hif

(L) (A-D. (B)-(IIL). (C)-IV). (D)-(D)
(2) (A)-(D). (B)-(ID). (C)-aV), (D)-1ID)
(3) (A)-(IV). (B)-(). (C)-dID. (D)-(ID
(€ (A)-(III), (B)-(IV), (C)-(ID), (D)-(I)

[Question ID = 1335][Question Description = 120_00_General_15_0CT22_Q20]
1. 1 [Option ID = 5337]
2. 2 [Option ID = 5338]
3. 3 [Option ID = 5339]
4. 4 [Option ID = 5340]

16 3 3
) If 7461 12 coded as 135. then what will be the code for 68937
(1) 151 (2) 161
(3) 179 (4y 152



A4 7461 #1 135 % ¥ ¥ Fzasg gy v 291 71 6893 2 %2 741 &7
(1) 151 (2) 161
(3 179 4) 152

[Question ID = 1336][Question Description = 121_00_General_15_0CT22_Q21]
1. 1 [Option ID = 5341]
2. 2 [Option ID = 5342]
3. 3 [Option ID = 5343]
4. 4 [Option ID = 5344]

17) A clock is set right at 5 AM. The clock loges 16 minutes in 24 hours. What will be the true
time when the clock indicates 10 P.M. on 4% day?
(1) 11 AM. (2) 11P.M

(3 9 P.M.: (4) 10P.M.

U HE ) WE: 5 F9 W gE 92 T w2 24 991 4w w1 16 foae & wif3 w2 ) wm wd 9e
faq oy 10 73 = qum femrd 2, @1 9 9o+ 2

() a1l E (2 WM 119
(3) ufs o3 (4) TIfa 10 @4

[Question ID = 1337][Question Description = 122_00_General_15_0CT22_Q22]
1. 1 [Option ID = 5345]
2. 2 [Option ID = 5346]
3. 3 [Option ID = 5347]
4. 4 [Option ID = 5348]

18) Given below are two statements :

Statement I: If yvou know the length of anv one side of a right angled triangle. the area of
the triangle can be found.

Statement IT: If vou know the length of two sides of a right angled triangle. the length of
the third side can be found.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement 1T are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement IT 1z incorrect
(4) Statement T is incorrect but Statement IT is correct

4 71 A fo e E

FoE () AT s Feft s G o v e ) oA 5 2, @ e dre e s g 2

Fed (I0) : afa s forel st Bgw A 1 gensti ft s s &, @ diad gen 6 daE e
BETIEY

T F44 % e 4, A o e Fwedi d | w8 3 % = fif
(1) FeRIFENIIEHIEAR
(2) FoH [ AR [ Ao 2 |
3 #FRIgHE AR TR
(4)  FoH I 2, AfFAF OEd 2
[Question ID = 1338][Question Description = 123_00_General_15_0CT22_Q23]

1. 1 [Option ID = 5349]
2. 2 [Option ID = 5350]



3. 3 [Option ID = 5351]
4. 4 [Option ID = 5352]

19)  Which of the following has the highest value?
(1 157 2 6
(3 27 4) 3

Ffefgn O & frgen gm sifusau 27
(1) 152 (2) 64
(3) 27 (4 3°
[Question ID = 1339][Question Description = 124_00_General_15_0CT22_Q24]
1. 1 [Option ID = 5353]
2. 2 [Option ID = 5354]
3. 3 [Option ID = 5355]
4. 4 [Option ID = 5356]
20) What will be the diameter of a civcle having area equal to that of a square of side 2.0 m?
1) ~1256m (2) ~2257Tm
(3) ~0.88 m (4 ~2718m

UF 2.0 m W F A F AAFA & HAA AR F Tk g9 F) SH = A7

(1) ~1.256m (2) ~225Tm
3 ~08%m (4) ~2718m

[Question ID = 1340][Question Description = 125_00_General_15_0CT22_Q25]
1. 1 [Option ID = 5357]
2. 2 [Option ID = 5358]
3. 3 [Option ID = 5359]
4. 4 [Option ID = 5360]

21)

"The secretaries have asked us to provide lounge areas where they can spend their coffee
breaks. This request will have to be refused. If we give them lounge areas, next they will ask
for spas and swimming pools. Then it will be yvoga centres and fitness gyms. Expenditures for
these facilities will drive us into bankruptey”. Which fallacy 1s committed in the above
argument?

(1) Strawman (2) Hasty generalization

(3) Red herring (4) Slippery slope

Vil 3 wd fAam-sa vgm w2 st 4 3R 576 e o uuy =d@i| 9w g% ) g am R
sy A1 20 | afe w3 Faum - 4 g #, a1 ) 9 g i feafan g o om #3) | iEg &E) e
fobzm Tl 1 win i smwfl | 3 gfawss @ o Fd-5a g a8 s | o a4 | Ea-
adam s 2t

(D) el (=7 84) (2)  fa=rd wra=im
(3) TEEREm (4) TraeHgE e (Femf =)

[Question ID = 1341][Question Description = 126_00_General_15_0CT22_Q26]
1. 1 [Option ID = 5361]
2. 2 [Option ID = 5362]



3. 3 [Option ID = 5363]
4. 4 [Option ID = 5364]

22 -
) iven below are two statements :

Statement I: The intensional meaning consists of the gualities or attmbutes that the term

denotes.

Statement IT: The extensional meaning consists of the members of the class that the term
denotes.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is eorrect but Statement II 1s incorrect

{4) Statement I is incorrect but Statement IT is correct

4 21 g fan o 3 .
w9 ([):  HYEIS 3 92 ST HI48 [0 41 {9t erdi e |
#9q (I0) :  fawea @14 4 va gm Ffde o & qee @49 2 |

T HAA o AT H, T e faeed d & was aqead 3w e il

(1) FUH [AT M EHTHA 2 |
(2) FRIATIMEHITAAT |
(3) R [HE 2, oI e ILTer 2 |

(4) A [ed &, dfe Fem Iad 2

[Question ID = 1342][Question Description = 127_00_General_15_0CT22_Q27]
1. 1 [Option ID = 5365]
2. 2 [Option ID = 5366]
3. 3 [Option ID = 5367]
4. 4 [Option ID = 5368]



23)
Which of the following is true regarding Nvaya view of invariable concomitance?

(A) It iz determined by inductive process of reasoning which corresponds to Mill's method
of agreement and method of difference.

(B) It 1= based on concomitance of affirmatives that wherever a product exists the

material cause thereof exists.

(C)  Itis based on the concomitance of negatives that wherever a material cause does not

exist the product thereof does not exist.

(D) Nyava view of inductive process does not correspond to Mill's method of agreement
and method of difference.

Choose the correct answer from the options given helow :

(1)  (A).(C) and (D) only 2) (B). (C) and (D) only
(3) (B)and (C) only (4) (A), (B) and (C) only

Ffeiaa 0 | #A-4 faa A & =m giEm & G699 1 a0 27

(A) e ek R srraeTenss wiE 3 R 2 2 o e s o] sie S e # gy #a

21
(B)  Tr AfEqar=l & Arg=d 93 v R - o9 w5 o i = siftae @2, 99 2k difas w5
&1 ol syfrees 71 2

(C)  ¥8 SFNTeHH| o Aead T saiE 2 - o wal ot difas s s stfeaes 7@ @, 3@ 359 afom
&1 sfedea Fd Fan 2 |

(D)  smmEEH Uik = gt e ) s g s s g & awen 98 2 |

1= fam o fehed) O | O 3 o =9 Fifan
(1) %A (A), (C) 51 (D) (2) A (B), (C) 31 (D)
(3) FAE (B) 3N (C) (4) A (A), (B) 5 (C)

[Question ID = 1343][Question Description = 128_00_General_15_0CT22_Q28]
1. 1 [Option ID = 5369]
2. 2 [Option ID = 5370]
3. 3 [Option ID = 5371]
4. 4 [Option ID = 5372]



24) If Sneha tampered with the examination script. then she 1s guilty of a crime. Sneha did not
tamper with the examination script. Therefore sneha is not guillty of a crime’. Which fallacy

is committed in the above argument?
(D Fallacy of affirming the antecedent
(2) Fallacy of composition
(3 Fallacy of denying the antecedent
(1 Fallacy of affirming the consequent
“afg e 3 whey fof 1 @2 o2 &t 2, @ 98 390y w93 6 Rt 3 Fa 3 ofign faf 1 szer 734
11 3 TR S i hE A
et e 4 AT Tk 2
(1)  qEadi #i yfasia # & adam
(2) AT F Aher
(8)  Ydadi @l FENA H dham
(4)  ZEd F) Ui e w dehe

[Question ID = 1344][Question Description = 129_00_General_15_0CT22_Q29]
1. 1 [Option ID = 5373]
2. 2 [Option ID = 5374]
3. 3 [Option ID = 5375]
4. 4 [Option ID = 5376]



25)
Given below are two statements :

Statement I: According to Nyava philosophy an argument does not proceed on the issues
that are well established.

Statement I : According to Nyayva philosophy an argument can proceed only on those issues

that are completely and absolutely unknown.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect
(3 Statement T is correct but Statement IT is incorrect

(4) Statement Iis incorrect but Statement II 13 correct

J= 21 Fem fnomu 2

Fa4 (D) : =7 29 & SR qerior fawe a1 de s 6 s 2

Fo (ID) :  #47T4 7909 o SR oo 9 fad o2 =i o e 2 < pia: o . s )

I A o AT U, A e e 4 A wEs IREe I e i

(1) HFFEIMTOHIEAZE)
(2) FUATHT DA Ted 2 |
(8)  FHIHA 2, AT T LA 2

() I 2, eiferd g T Ed 2

[Question ID = 1345][Question Description = 130_00_General_15_0CT22_Q30]
1. 1 [Option ID = 5377]
2. 2 [Option ID = 5378]
3. 3 [Option ID = 5379]
4. 4 [Option ID = 5380]

26)
What 1s the full form of the acronym CAD and CAM?

(1) Conirol Aided Data and Computer Aided Man

(2) Computer Aided Design and Computer Aided Manufacturing
(3) Computer Aided Design and Computer Aided Maintenance
4) Computer Aided Design and Computer Aided Man



nfcaf #1 v £ (CAD) *iW #i v vy (CAM) = 70 &4 & &7

(1) gl ugz = sin Frge uge iy

(2)  Feger uze faare s sy v igtaaio

(3) =gz vz T 3in gy vgs Uedw

4  FHzussfeme N Ty vEe [/
[Question ID = 1346][Question Description = 131_00_General_15_0CT22_Q31]
1. 1 [Option ID = 5381]
2. 2 [Option ID = 5382]

3. 3 [Option ID = 5383]
4. 4 [Option ID = 5384]

27) Which two of the following tasks are carried out by all operating systems?

(A) Repairing mouse

(B)  Datalogging

(C)  Managing system respurces including memory
(D) Transfering data to printer

(E) Drawingimage

Choose the correct answer from the options given below :
(1) (A} and (D) only (2) (B)and (C) enly
(3)  (C)and (D) only (4) (C)and (E) only

Fferfaa 4 4 #a-4 71 % ad) srafan e g G s 21
(A)  HI3g & e

(B) =@ A

(C)  buf) afee ez dans] &1 gafaad w5

(D) =1 A e A St e

(B) 35 M1

i few T foreedl 6 6 w1 390 1 =59 Fifao

(1)  Fae (A) #in (D) (2) #F=e (B) 31 (C)
(3) Faw (C) 3 (D) 4) F9 (C) 511 (E)

[Question ID = 1347][Question Description = 132_00_General_15_0CT22_Q32]
1. 1 [Option ID = 5385]
2. 2 [Option ID = 5386]
3. 3 [Option ID = 5387]
4. 4 [Option ID = 5388]



28)
The functional components of a digital computer are :

(A) Input Device

(B)  Printer

(C) Central Processing Unit
(D) Memory

(E) Output Device

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only (2) (A), (D), (E) only
(3) (A). (C). (D). (E) only (4) (C). (D). (E) only
Tefies Frgz & Fious 924 2 -
(&) Iz fzamnm
B o=

(©) et mafan gl
(D) wEi

(B) #7132z fzamem
4 fau m fernedi 4 4 w3 & = il

(I) %4 (A). B). (©). (D) (2) #AEd (A), (D). (E)

(3) A (A). (C), (D), (E) (4) FaE (C), (D). (E)

[Question ID = 1348][Question Description = 133_00_General_15_0CT22_Q33]
1. 1 [Option ID = 5389]
2. 2 [Option ID = 5390]
3. 3 [Option ID = 5391]
4. 4 [Option ID = 5392]



29)
Given below are two statements :

Statement I: Piracy refers to attempts to gain information from otherwize undisclosed

areas.
Statement II: Hacking refers to the unauthorized duplication of computer software,

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT is false

(4 Statement I is false but Statement II is true

A g e fru
FeA () IR F AR S H A H OHEAT 9T %A s wEnE q 2 )
FoA () ;B 1 A1eTd dege Hivedn £ stagd A5 (gfeea) 42 )

9T F4F = ST 0, J19 2o e famedi 8 19w e o =9a il

(1) ¥ IARIIAIEAE |
() FEIANIIEE ATAE |
(3)  weH 1™ 2, ol F9 [ 5593 2 |

(4) w9 T 30ea e, offehd FoA TTHAa 2 |

[Question ID = 1349][Question Description = 134_00_General_15_0CT22_Q34]
1. 1 [Option ID = 5393]
2. 2 [Option ID = 5394]
3. 3 [Option ID = 5395]
4. 4 [Option ID = 5396]



30)
Given below are two statements ;

Statement I: SWAYAM is Study Web of Active Learning for Young Aspiring Mind.
Statement 1T : SWAYAM is Source With Active Young Aspirational Mindfullness.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement T and Statement IT are correct

(2)  Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement IT 1z correct

4 &1 e fau o E -

Foq (D) ;= (SWAYAM) &1 9 9 2 221 91 % Ufdea off-n w7 27 et 5Ee |

#24 (ID) : =94 (SWAYAM) &1 i &9 2 |r fae vfgza gn tfors=a gEasa-H |

394 HA T T 4, 9 2o faeedi 0 3 s 2w I o we fifam

(1) Fe IR MM aFI @91 & |
(2) weEIsEN AT |
(8) FHIUAR AR FFIOTAARI

(4)  =eE LIeE 2, SAfeH e A 2

[Question ID = 1350][Question Description = 135_00_General_15_0CT22_Q35]
1. 1 [Option ID = 5397]
2. 2 [Option ID = 5398]
3. 3 [Option ID = 5399]
4. 4 [Option ID = 5400]



31)
Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Asgertion (A):  Geothermal fluids are rich in =alts and other contaminants such as
hydrogen sulphide (H:S) and oxides of nitrogen (NOx)

Reasons (R) : Thev are reanjected into ground rather than being dumped to river or

ponds.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) i NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4) (A) 13 not correct but (R) 1s correct

=l &1 e Tu 1w B : vsk i (Assertion A) % &9 1 ffiad 2 #1 §59 304 #7171 (Reason R) & &9 4

sfameE (A) H-ATIT A7 a9 31 F1gEI AeEEs (HoS) d Tgai & Al (NOy) 94 5=
g 8 HgE A2 |
® WU (R) : a9 Afed 1 AT 0 F 9 @ g0 4 qq: saan & G 9 F |

P A A Y, = d e e O & das v 39 o 99 fiieu

(1)  (A) 3R (R) 2E1 97 2 37 (R), (A) F1 57 s 2 |
(2) (&) 3N (R) a1 a8 2 SfFA (R). (A) i wdf sapen A8 2
3 (EhEaE @R AR

(4) (A HAFE 2 A (R) TE 2

[Question ID = 1351][Question Description = 136_00_General_15_0CT22_Q36]
1. 1 [Option ID = 5401]
2. 2 [Option ID = 5402]
3. 3 [Option ID = 5403]
4. 4 [Option ID = 5404]

32) )
Which one among the following is not a unit of measurement of surface ozone?

(1) Microgram per meter cube (2) Nanogram per meter cube
(3) Dobson unit {4y Parts per million



feryferfiaa © 4 =t |ae) 20 Fams 1 2 w27
(1) =iz uld 59 Hie (2) g ufd =7 de
(3)  EEEATHEE @) v ufq faferm (g0 @ma)

[Question ID = 1352][Question Description = 137_00_General_15_0CT22_Q37]
1. 1 [Option ID = 5405]
2. 2 [Option ID = 5406]
3. 3 [Option ID = 5407]
4. 4 [Option ID = 5408]

33) Match List T with List IT :
LastI ListII
Water Pollutant Type Example
(A) Toxic Pollutant (I} Chlorine
(B) Nontoxie Pollutant (II) Protozoa
(C) Macroscopic Pollutant (IIT) Benzene
(D) Pathogenic Pollutant (IV) Food cans
Chaoose the correct answer from the options given below :
(1) (A)-(III), (B)-(I). (C)-«(II). (D)-(IV)
(2) (A)-(II0), (B)-T). (C)-(IV), (D)-(ID)
(3) (A)-(IT). (B)-(T}. (C)-(IV), (D)-(I1I)
(4) (A)-(D). (B)-(ID, (C)-(IIL}, (D)-(IV)
HAT-1 % =4 g=-10 o e s
i1 w11
el Wl &l =R K|
(A)  Tawm ugs I & iC
B) - T g D) s
(C) e T55F I =i
(D) TP 9T (IV) uisH & f2sal (52 34)
At T oo 4 5 we 39 a1 = i

(L) (A)-(IID). (B)-(I). (C)-(ID), (D)-(IV)

(2) (A)-(III). (B)-(D). (C)-(IV). (D)-(ID)

(3) (A)-(IT). (B)AI). (C)-(IV). (D)-(ILI)

(4) (A)-(I). (B)-(II). (C)-(IIL), (D}-{IV)
[Question ID = 1353][Question Description = 138_00_General_15_0CT22_Q38]
1. 1 [Option ID = 5409]
2. 2 [Option ID = 5410]

3. 3 [Option ID = 5411]
4. 4 [Option ID = 5412]



34)

Match List I with Last IT

(a)
(B)
(C)
D)

Tast I

Energyv Source

Wind Energy
Thermal Energy
Hydroelectric Energy

Photovoltaic energy

List IT

Environmental Tmpacts
(I) Emi=sion of Green House Gases
(I) Loss of mparian vegetation
(IIT) Hazardous for birds and bats

(IV) Production of toxic wastes

Chooze the correct answer from the options given below :

(1)
2
(3)
(4)

(A)-(IV), (B)-(IID), (C)-D), (D)D)
(A)-IV), (B)-(ID), (C)-(D), (D)-(IID)
(&), (B)-(I), (C)-(IV), (D)-(1L)
(4)-(I10). (B)-(D). (C)-(I1). (D)-(IV)

Tl-1 % "% Hi-IL %1 e Hifau

(A)
(B)
(C)

(D)

9 fe3 o feredi 4 8 AF I #1 WA difau

(4)

L
FA HMA
T A

FeAfrEd Hl

(A)-(IV). (B)-(III). (C)-(ID), (D)-(D
(A)-(IV). (B)-(ID. (C)-(I). (D)-(I1L)
(A)-III), (B)-(I), (C)-(IV), (D)-(II)
(A)-I). (B)-(D), (C)-(D), (D)-(IV)

HHI-IT
TR wHE
(D 1 2139 9 1 39
(I 71 for aofaal 1 &9
(D) gfer sin =mmes] & fou aaems

@v) Foaer spafrEl @ e

[Question ID = 1354][Question Description = 139_00_General_15_0CT22_Q39]
1. 1 [Option ID = 5413]
2. 2 [Option ID = 5414]
3. 3 [Option ID = 5415]
4. 4 [Option ID = 5416]



35)

Match List I with List IT
List I ListIT
Hazardous Waste Explanation

(Ay Flst (I} Hazardous wastes from specific
industrial processes

B) Klst (II) Discarded chemicals exceeding
25 kilograms per month

(C) P-hst (III) Hazardous wastes from non-specific
sources

Dy Uhst (IV) Discarded chemicals exceeding
1 kilogram per month

Choose the correct answer from the options given below :

(1) (A)-III), (B)-(I). (C)-(IV). (D)-(II)
(2) (A)-(ID), (B)-(ILL), (C)-(@), (D)-(IV)
(3) (A)-(IV). (B)-(ID). (C)-(IIT). (D)«D)
(4) (A)-(I), B-(IV), (C)-(ID). (D})-(111)
HH1-1 % |y H=-10 %1 Taer i
A AT
ST ST ST
(A)  UE-g @ fafoe i afFndi 4 om @3 ae
T HIfE
(B) F-Ei (D 25 Fretrom afd ure 8 sifess s e
(C) g 1) -fafsre @l 3 e Fa-r s
D) F-HH aAV) 1 e afa e A s smafin e

41+ feg 1o faeredl 9 9wl 397 1 =199 e

(1)
2
(3)
€5

(A)-(III). (B)-(I). (C)-(AV). (D)-(ID
(A)-(IT). (B)-(ITD). (C)-(T), (D)-(IV)
(A)-(IV), (B)-(IT). (C)-(I1T), (D)-(D)
(A)TI), (B)«(IV), (C)-(ID. (D)-(III)

[Question ID = 1355][Question Description = 140_00_General_15_0CT22_Q40]

A w N =

1 [Option ID = 5417]
2 [Option ID = 5418]
3 [Option ID = 5419]
4 [Option ID = 5420]



36) Modern Universities were established in India in 1857 at

(1) Caleutta. Madras and Hydrabad
(2) Calcutta. Madras and Bombay
(3) Calcutta. Bombay and Hydrabad

(4) Caleutta. Banaras and Hydrabad

wRA | @ 1857 6 s favafaareri $i v = 72 ol

(1) e, HgHE 3N S
(2) e, gEH 3 A

(3) e, 4 ST AETET
(4)  FerRe, SH0H 3T AR

[Question ID = 1356][Question Description = 141_00_General_15_0CT22_Q41]
1. 1 [Option ID = 5421]
2. 2 [Option ID = 5422]
3. 3 [Option ID = 5423]
4. 4 [Option ID = 5424]

37)
Which among the following is not related to the ranking of World Universities?

(1) Times higher ranking (2) @S ranking
(3) Madrid ranking (4) Shanghal ranking

et 4 & 14 fava = fvatrnea 1 15 4 dafua 448 87

(1) 2= e @) w4 uaifam
(3  afzeifam (4) v

[Question ID = 1357][Question Description = 142_00_General_15_0CT22_Q42]
1. 1 [Option ID = 5425]
2. 2 [Option ID = 5426]
3. 3 [Option ID = 5427]
4. 4 [Option ID = 5428]



38)  Which among the following are related to the gquality of research articles?
(A) number of research articles
(B) impact factor
(@ citation index
(D)  frequency of their publication
(E) h-iridex

Choose the correct answer from the options given below ;
(1) (A). (B). (C) Only

(2) (B). (C). (D). (E) only

(3) (B). (C). (E) only

4 (A). (B). (C). (E) only

fr=fefiaa § | %13 | sy orgi &1 E Gefam 27
(A) 9014 el 1 Fea

(B) WHE-FEH

(C)  FZ-Ha%%

(D) 39 Tahrer &) S

(B) Ua-HaEis

414 fou v fawedl 1 B w0 3w ) = Fifw
(1) & (A), (B). (C)

(2)  @ad (B). (C), (D). (E)

(3)  *EE (B). (O). ()

(4 w49 (4). B). (C). (E)

[Question ID = 1358][Question Description = 143_00_General_15_0CT22_Q43]
1. 1 [Option ID = 5429]
2. 2 [Option ID = 5430]
3. 3 [Option ID = 5431]
4. 4 [Option ID = 5432]



39) Match List T with List IT

ListI List I
Values Meaning
(A) Integrity (I) Having a good atfitude
(B} Team work (I} Dedication and hardwork
(C) Discipline (IIT) Do the rght thing
(D) Positivity (IV) Helping and cooperating with each
other

Choose the correct answer from the options given below :
(1) (A)-(IID), (B)-(IV), (C)-(D), (D)-(I)
(2) (A)-(III), (B)-(II), (C)-@V), (D)-{I)

(3) (A)-(IV). (B)-(D). (C)-(LIL). (D)-(1I)
(4) (AIID. (B)-(IV), (C)-I). (D)-(IL)

11 % =19 g0 a1 foetrm it -

HeH1-T HH-1T
He HY
(A  Ha-fm @M sl wfugfa v
(B) #HYE FH (@D Hqu H 5FF ghey
(C) HgImEA (IID) & & FE
(D)  HHHTHFA] (IV) TOF HERED 30 Jadli s

dr4 feu mu faaedl 4 8 981 397 &1 F93 $ifaw .

(1) (A)III), (B)-IV), (C)-dD). (D)D)

(2)  (A)ID. (B)-ID. (O)-(IV), (D)-(D

(3) (A)-(IV), (B)-(I). (C)-(III), (D)-(1I)

(4) (A)-(ATI). (B)-(IV). (C)-(I). (D)-(1L)
[Question ID = 1359][Question Description = 144_00_General_15_0CT22_Q44]
1 [Option ID = 5433]
2 [Option ID = 5434]

3 [Option ID = 5435]
4 [Option ID = 5436]

A wWN =



40) Which of the following were important aspects of Ninth Five Year plans (1997-2002)
pertaining to higher education in India.

(A) TImprovement in guality and systemic efficiency

(B) Conferring autonomous status by UGC on selected colleges
(C) Encouraging research in higher education

(D) Vocationalisation of higher education

(E) Improvement of quality and relevnace of technical education
Choose the most appropriate answer from the options given below :
(1) (B). (C), (D), and (E) only

2 (A). (B). (D). and (E) only

(3) (A)and (E) only

(4) (C)and (D) only

A 4 Al daedia 451 (1997-2002) 4 7= foian 4 wrafa geenpi vee fefofas 0 4 =9 4 27

(A) TEA 1 el 1 e 8 qun

®B) .. gm g gEfeerE @ e i T gEH s
(©) 7= foren 4 ony =) drEETEE A

(D) = e & sEEETaRE

(E) VT 1 HAW 31 dshAeh] o1 @l qrEiTeRd

e fqu o fasedl 0§ HEl I H =95 difa

(1) %&a (B). (C). (D) 31 (E)

(2) 4 (A), (B). (D) 31 (E)

(3) ael (A) 31 (E)

(4) %4 (C) 31 (D)

[Question ID = 1360][Question Description = 145_00_General_15_0CT22_Q45]
1. 1 [Option ID = 5437]
2. 2 [Option ID = 5438]
3. 3 [Option ID = 5439]
4. 4 [Option ID = 5440]

Topic:- GP_UGCNET_110CT_SH1_51_C



1)

Read the passage and answer gquestions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exerclse in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1z not just a demand for zelf-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1s more geared to rocognising men's deprivation than
women's. These iraditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also Informative public
discussion and often enough. agitation. The connection between public reazoning and the
choice and weighting of capabilities in social assessment is important to emphasize, It also
points to the absurdity of the argument that 1s sometimes presented. which elaims that the
capability approach would be usable and operational. only if 1t comes with a set of given
weights on the distinet functionings in some fixed list of relevant capabilities.

T I 9% HE U 46 § 50 F IW 2

feprml yeeiaha 4 et o) §) afes dnifes gam 8 weblag ad ) g Fd 2 gz v o w2
o 79 wem =Fa T8d # | geaTaAl ol 959 i favasHEa #1 fama @ 6 oo s 3R stias e
91 % fofu 78 3w 9= § S a9 F Ovifdd ge & Afifeaq s Zom Sedan s s
e il AEvIHAl 4 hdel UE U 91 9 T8 slfadl g W -4iga geared £ o @ afes gz w4
Tl 3 TAEIE R dch | ATHEEEA %1 HE i 2 | ¥le g gedtea f=-frs s v e
L R 01 A e = e 1 2 i = 0 e e 1 e B e (R PR R R e
foren i 3l 39eh w1 61 gftekl, Y84 iR ugm ol s Hug 99 #) Sl 2| gEm & fen ued g
fem-smenfea fawamisn 61 @k =9 3 2@ % a9 § F9 U aaads 39 wE 0 Jare fef 2
Foet weet wafe wfspfa = fuerfl < | sgeon 8§ 39 Frem o Ferenfre arfarfes gfessn 8 sem g2l
&l e wfeafem 2 o1 wfzas F At 8 ol s w0 | @ ol 2 3w w5 g
ugfa # i e 22 & wadga afyfern 2 gl @nae o2 w0 2 fF gz gfrensi 6 qemn O ol &
A1 w1 AlYEH T UEH Al 2| HEIa, qRIEEE HETE 8 T e % 4 IR gEgd A
el dafaren 901 &) dfeeh A0S 34 =] &1 0 30 U= S48 & J 90 %56 2 )

o A 8 949 ddh H1 GUAI & =984 J UE 6w o WAy T odd oA HEvEE 2 | 98 -
FHR Wd 38 dch ol Fedwa #1 i qiea @ 2 e 2 g fe a2 f anamges gfewm adl
sawd 3 fraerE R W 9w H4g aumsn i fel e el O o we e fafee @t @ fae o
UH1 & HTY T 2 |

Reflective evaluation takes into account :

(1) Subjective perception of public issues

(2) Mere counting of societal developments

(3) General understanding and public reasoning

(4) Extensive arguments on inequalities



(1
(2)
(3)
(4)

S WHE = T
aaTA-Hw | R = waEs o
HTH HYZ SR S T

SR 3w g e

[Question ID = 1361][Question Description = 146_00_General_15_0CT22_Q46]
1. 1 [Option ID = 5441]
2. 2 [Option ID = 5442]
3. 3 [Option ID = 5443]
4. 4 [Option ID = 5444]

2)

Read the passage and answer questions from 46 to 50.

HReflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of scrutiny and eritical
assessment 18 not Just a demand for self-centred evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social

evaluations may be starved of useful information and good arguments if they are entirely

based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1= more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoning and the

choice and weighting of capabilities in social assessment is important to emphasize. It also

points to the absurdity of the argument that i1s sometimes presented. which claims that the

capability approach would be usable and operational. only if it comes with a set of given

weights on the distinct functionings in some fixed list of relevant capabilities.

T I 9% AT U 46 H 50 F IW 2

foramrl gearerA A Faa e $ afes Arfas gama | Adfaa a9 ) owin w2 ) 92 v v owE 2
ot #m Haa =04 T8 2 | gediadl 61 TEE 3R favasdEa &1 faea @0 @ oo i o= sifs
a9 & foft 30 3 w9g 4 94 deh & Guiidd Seed &l wifed s 2om) Hdian afln sdfiarere
A ] ATEITIHRA 4 el U H G $ T8 Al g A —higa gediEa F1 5 8 afok a8 4
Tl 3 UREie 99 a6 ArgEEa 6 = i 2 | gfg wnaifas gearea im-fim sl v e
Rl R 115 O e s e £ e e = & 2 e e 2 W e e e OB B
faen 31l 331 39 HFTeH1 ) g, yad o ugea 6l 98d Jug 9e1 d@ Aad 2| g 6 fon ueA o
fe-smenfra famaasi < @ 29 4 29 & a9 0 5 ) g @) T9eE 0 0 wEEa e 2
Foes wmet ouTe wiield T8 merdt o | sz 8 34 Fea SR et aiais giemsn 8 sem e
&l vgeEm wfeafem 2 50 wfzas F At g onlds s o i @& ol 2 s w5 g
ugfa B i em 727 i e affem 2 fad s g2 w2 fF e ofwensi 6 g 1wl &
1w Ay T TEH FA 2| HEe, EEE HEE 0 6 SHEEE F 4 TR gEdd |
e dafader Tom &) 9fca Fde 99 9= &1 91 3 U e 6 d gm oEE F )

gt WEed O 99 @6 {17 aUAsl & 994 9 90§ || & TAY W ad o A9eE 2| g8 aafi-
FUR Wid 39 Ach ol dwa #1 i giaa s 2 e 2z g e a2 e doangas gfesm ad
sadAr 3 ETeRE R 9E 97 H4g duman & e e g 8 ouw e are fafere sl 6 fge o
URT & H1Y ST 7



A robust and eritical evaluation will result in :
(D Interactive public discussions (2) Selfcentred assezssment

(3) Availability of useful information (4) BSequestered cogitation

HIT A AT geaiEA |

(1) arrorfis 549 == (2) S -hizd A
(3)  Fuwfl AHEE 3T (4) uEFE fFe

[Question ID = 1362][Question Description = 147_00_General_15_0CT22_Q47]
1. 1 [Option ID = 5445]
2. 2 [Option ID = 5446]
3. 3 [Option ID = 5447]
4. 4 [Option ID = 5448]

3) Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoming regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible 1mportance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of scrutiny and eritical
assessment is not just a demand for zelf-centred evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discus=ion and deliberation can lead
to a hetter understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate, public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that is more geared to rocognising men's deprivation than
women's. These iraditional antecedents of zender imeguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoning and the
choice and weighting of eapabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that i1s sometimes presented. which claims that the
capability approach would be usable and operational. only if 1t comes with a set of ziven
welghts on the distinet functionings 1n some fixed list of relevant capabilities:



T ] G 3T YS 46 H 50 FH IF 4 -

Tl yegrea 9 Fae E F gfes Jiees gee | welan ad ) am g 2 ) 92 ue v o 2
forad 20 wem =45 T8d 2 | grdiaAl 1 95d iR fqvasdEd #1 faga @ % o i o sfas dos
g % feu 3y sm wum 0 99 a6 % Awifad weed &1 wiifed son 2| e s e
i il AEvIEHAl 4 hdel U 4 9/ 9 18 sfadd] g Wi -higa gered £ o @ afes gz 94
Tl 3 TR R fdeh | ATHEEE A w1 HF6 i 2 | gle gt gt i=-fas s v e
gt quid: et #L A 2 2l saedl i = Al @ s 2 o T e e o fasm
frm sl 3R 29 garal &) gfiesr, 989 o e i 989 g9 9 8 gedl B ) sgem F fon upd 4
et - svariva famganstl < s 9= A 26 o 991 8 &9 Wl SaEEas & IarE e 8 Here fael 2
foe waet wyte wfrnfa 34 fasrdt o |z 4 39 fem s ety orfenfe gfrmsi # sem g
=i Faeae) wigtem & o ufEasi & dmrtes d i sE w1 e @ gl 2 s wmies ge
ugld | i Hew #eq ol wadaen a@fwferd 2 e sae o2 v 2 gz gfeensi & gen 3 e &
a1 H1 AUH T HER A 7 | HEAE, [FEEE HEE 8 o e & 4 9 qEEe |
et dafere e &1 afesh smwe 39 == §1 dl 3w SAeEd 6 d g e 2 )

s A 4 949 7 311 GUAIS & =984 J YA & Wi & WAy T dd oA AT 2 | g @dl-
HUR YA 34 b | e #1 W yfea w2 e gz gmn fen w2 T amanges gfewm ad
w30 s 2 9m a8 Hag audsn Fi e e g O ae e T fafie sl @ e o
UH1 & HTY AT 2 |

The pubhc discussion on gender inequalities makes us support :
(1) Time honoured family roles

(2) Restrictive social roles

(3) Deprivation of men in society

(4) Reforms 1n the present social value system

o wEgEAs w FA 99 § 20 fewe wuda & g 27

(1)  Terepenfaa arfrenfes gfgesnd

(2)  wu=EmE drartes syfremd

(8)  wHTH U EEl A=

(4 =iy gufas geu vglh 8 g

[Question ID = 1363][Question Description = 148_00_General_15_0CT22_Q48]
1. 1 [Option ID = 5449]
2. 2 [Option ID = 5450]
3. 3 [Option ID = 5451]
4. 4 [Option ID = 5452]



4)

Read the passage and answer gquestions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exerclse in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1z not just a demand for zelf-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1s more geared to rocognising men's deprivation than
women's. These iraditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also Informative public
discussion and often enough. agitation. The connection between public reazoning and the
choice and weighting of capabilities in social assessment is important to emphasize, It also
points to the absurdity of the argument that 1s sometimes presented. which elaims that the
capability approach would be usable and operational. only if 1t comes with a set of given
weights on the distinet functionings in some fixed list of relevant capabilities.

T I 9% HE U 46 § 50 F IW 2

feprml yeeiaha 4 et o) §) afes dnifes gam 8 weblag ad ) g Fd 2 gz v o w2
o 79 wem =Fa T8d # | geaTaAl ol 959 i favasHEa #1 fama @ 6 oo s 3R stias e
91 % fofu 78 3w 9= § S a9 F Ovifdd ge & Afifeaq s Zom Sedan s s
e il AEvIHAl 4 hdel UE U 91 9 T8 slfadl g W -4iga geared £ o @ afes gz w4
Tl 3 TAEIE R dch | ATHEEEA %1 HE i 2 | ¥le g gedtea f=-frs s v e
L R 01 A e = e 1 2 i = 0 e e 1 e B e (R PR R R e
foremn i 3 39k w1 1 9ok, Y84 iR uge ol s Huy 92 #) Sl A | gEm & fen ued g
fem-smenfoa fawamsn 61 @k =41 3 2@ % a9 § F9 U aaadsl 1 39 wE 0 Jare fef 2
Foed et wafe wftepfa = fuerf) < | sgron 8§ 39 P i Fvmenfe aifarfes yfessn 8 sem g2
&l 3arE wfeafem 2 o1 wfzas & At 8 ol s w0 difn @ ol 2 i @ s g
ugfa # i e 22 & wadga afyfern 2 frhl @ae o2 w0 2 fF gz gfrensi 6 qeen O o &
91 w1 Al T UEH w2 | HEa, qEeEeE HETH T SEEEE % 4 IR gEgd A
e d3fde 91 &) dfeh UE 39 =9=9] &1 0 30 9" S1EeE & d 5 % 2 )

amifses HeE O 99 dd H1 auAsl & =999 9 9E F " qEy W ad o a2 | gg wdfi-
FHR Wd 38 Ak ol Fedwa 1 i qiaa @ 2 e 2 g fem a2 e anamges 2o adl
sawd 3 fraerE R 9 9w Hhg aumsn i fe e el d o we e fafere st @6 fae o
UF1 & HTY AT 2 |

Gender inequality in traditional societies demande
(A} Individual discourses only

(B) Public discussions

(C) Limitation on opportunities

(D)  Agitation based on public resoning

Choosze the correct option :
(1) (A) and (B) only (2} (B) and (C) only
(3 (B) and (D)) only {4y (C)and D) only



Td w4 fer stmEe Feeh oin e 27

(A)  Fa =fFE ==

B ==l

(C)  3raFgd W dim

(D)  SH A | AT HEEA

wel o =41

(1) e (A) 30 (B) (2) 4 (B) # (C)
(3)  Fae (B) #n (D) @) #Hd (C) i (D)

[Question ID = 1364][Question Description = 149_00_General_15_0CT22_Q49]
1. 1 [Option ID = 5453]
2. 2 [Option ID = 5454]
3. 3 [Option ID = 5455]
4. 4 [Option ID = 5456]

5)

Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoming regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 18 not Jjust a demand for zelf-cenired evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fizxed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1z more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough., agitation. The connection between public reasoning and the
choice and weighting of capabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that 1= sometimes presented. which claims that the
capability approach would be usable and operational, only if 1t comes with a set of given
weights on the distinct functionings in some fixed list of relevant capabilities.



T I GG HH T 46 H 50 N IW Q-

ferarl yearaa 3 Fae e 6 afes anifes gee 3 @efan b ) oaf s 2 22 v v e 2
ol 70 wed =4 784 2| gegieAl ) Ee 3 TavasEa #) fasa @ & o s 35 afas de
I % T g wm g 0 9 aF % awifad e i uftifea s 2o g sin adfieers
i il AEvIEHAl 4 hdel U 4 9/ 9 18 sfadd] g Wi -higa gered £ o @ afes gz 94
T SR IR 99 A ] ATHERET il gah i 2 | afe anifas gemed e -Tee i v e
R\ B i B = 2 B e B e e 0 o e o e B L R SRR R
foranan 3 9 w1 gfvs, 989 i gEes & dEar aum de B aedl B | JgrEmn & o uwe 4
et - svariva famganstl < s 9= A 26 o 991 8 &9 Wl SaEEas & IarE e 8 Here fael 2
foe waet wyte wfrnfa 34 fasrdt o |z 4 39 fem s ety orfenfe gfrmsi # sem g
i Taege wferfed & o1 afEasi & gt 9 snfds s o difua @ afl # s am i ge
uzfa | i sem 229 1 w@agm afyfem 2 fogh snee g2 ©f 2 f5 gz gfzensi 6 qen O &
a9 &1 i g=ra wem #dl # | gerf, e w8 oomEee & 3 gEien gEen A
et daferren T <1 afee e 59 == 61 A s g e o g e #

qrrfae saed 8 99 dd 317 sUAIs] & 994 d 9E & di9 & JEY W ad o A9 2| g8 aafi-
HUR YA 34 b | e #1 W yfea w2 e gz gmn fen w2 T amanges gfewm ad
w30 s 2 9m a8 Hag audsn Fi e e g O ae e T fafie sl @ e o
UH1 & HTY AT 2 |

The major take-away from the passage is:

(1) Promotion of a capability system

(2) Separate soclal assessment of men and women

(3) Recognition of the traditional value system

(4) Absurdity of a capability approach with a fixed list of weights

erT &1 g e 2

(1) Uk gl 73 1 SreETE

(@ g 3w afeens @ fue-fem amfas srees

(3)  THEM §= TG He

(4) Wl & frga g 9w smanger gfedm 6 e
[Question ID = 1365][Question Description = 150_00_General_15_0CT22_Q50]
1. 1 [Option ID = 5457]
2. 2 [Option ID = 5458]

3. 3 [Option ID = 5459]
4. 4 [Option ID = 5460]




